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Umit § Test Review

A = Basic B = Moderate C = challenging

| 1) State the property being
illustrated.

a) (5)(-2)(3) = (3)(-2)(5)
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2) Distribute

a) 6(x + 3)=

o) oy + 1%

b) 3a(a —4)=
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3} Combine Like Terms

a) 4x-xXx+7y+2x+9=
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4) Distribute & Combine Like Terms

a) 4(c+8)+6(c-2)=
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b) 5(y+z)+3(6z+2y)=
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c) -5x + 2y(y-6)—3y%+3x=
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5) Evaluate whenw=— 3
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6) Evaluateifx=-—3
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7) Solveifa=3
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8) —3x(—5x—2y+7z)=
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10) Write a simplified expression
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12) Write a simplified expression
for the perimeter and area of
the following figure. Then, tell
what the perimeter and area
would beifx=1, 2, 3,4, 5.

Z2x+ 4

2X

(;kx 5K
(0% :i—?ﬂ

P@rﬂ ‘md ey = A oyt =

[LX+ID ]
;
 Pevinarer

HQ Arep = 5
i

K| Pre
5@ = 5 (AQHD:[(‘O
J = 69[1{54-5 =937
5(5 = LD =08

!

%

3 b ) )
4o |5(8= 80 (1D = 30k
5 |5()7= 125 |

13) Give an example of an equation
that is both the commutative
and associative properties.
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14) Solveifz=-2,

~6z(z-8)+52%-132-15—-9z% - 11z
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15) Which expression is equivalent to
the expression: 6(x+2)-3(x-1}7?

a) 3x+9
¢} 3x+15

b) 9x+5
d) 3x— 15
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16) What is the greatest common
factor of the terms below?

12a 20b 42c

17) Factor: 27x+18

18) Factor: 15x% — 27x

19} Factor: 72x% —48x% +32

20) Factor: 20x — 70xy + 35y

21} What is the factored form of:

10abc + 50ab ~ 25h

22) What is the factored form of;

—6gh — 15g%h + 81 rs® + 9r2s?




23) There are 29 teams in the NBA.
B Each team can have a maximum
of 12 healthy players plus 3

players on injured reserve. Use
the distributive property to find
the maximum number of players
who can be in the NBA.

29(16.+3)
234+ 8

X H35 players é
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24) Translate the sentences below into
algebraic expressions:

A a) Two less than a number is four.

b) Nine more than twice a number
A is twelve.

¢} Seven is one-fourth of some

B number. | _
o o I
S
d) Three times a number decreased A —
A by 15. A0 15

| C e) The number x times the difference
between b and c.




